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B Bett Eke/5) BEEke/F) =

z 2% (BIR) 5 +BAD| ue | Tk s

% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE

H D | DB e | BE | e | M| & Bt

1 [EROKBMELEEY 7.3E+1| 2.7E+4 1.2E+1|  27569.0 | 4.7E+2| 1.3E+5| 134,2538 161,822.8

2 [7UIILTER 2.0E-1 02| 25E+0| 3.9E+0 6.4 6.6

3 [ZoULETIFIL 4.2E+2 420.1 4.7E+1 46.9 467.0

4 |TVVIVEERUVEDKIBMSE 1.4E+4| 1.0E-1 14,205.4 1.2E+3 1,201.2 15,406.6

5 [ZOVIER2-(CAFILTI/)TFIL

6 |(ZHUILBE-2-EFOXSTFIL 5.9E+0 5.9 9.9E+1 99.1 105.0

7 |7V EE-TFIL 6.8E+3 6,833.3 7.5E+2 749.0 7,582.3

8 |[ZUUIEEAFIL 1.1E+3| 3.0E+0 1,129.8 1.8E+5| 180,007.3 181,137.1

9 [FHuB=rJL 7.2E+3| 2.0E+2 7,364.1 46E+4| 457436 53,107.7

10 |7oaLA> 9.0E+0 9.0 9.0

1" |7 FrII L 6.0E+0 6.0 6.0

12 [7Er7ILTEFR

13 |7Er=FUL 2.8E+3 2,784.7 2.6E+5 256,179.0 258,963.7

14 |[7Eb22T7/ER)Y

15 |7EFI7Y 1.2E+1 12.0 2.8E+0 2.8 14.8

16 |22-FYVERAYTFA=LY)L 3.0E-1 0.3 8.0E+0 8.0 8.3

17 |- =Py

18 |7=U> 1.7E+2 174.3 1.0E+0 1.0 175.3

19 [1-72/-910-7o 5% /Y

20 |2-73/TH/—)L 1.4E+3| 3.2E+1 1,385.1 | 2.1E+2| 13E+4| 128877 14,2728

21 [paysEyy

22 |2«4FB=Z)L

23 |p-7=/7z/—L 1.6E+1| 2.2E+2 236.0 236.0
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% Bma (5l4) REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
= DHEE | DHEH| - - &t = | & &t Ba
= [Sigapriihya e
24 |m-73/7z/—)L 1.2E+2| 1.4E+3 1,520.0 1,520.0
25 [ARYTDY
26 |3-73/-1-FAxy
27 |A2EhOY
28 |7YILTILa—)L
2 L—?'J}LT$>—2,3—ITI'\=\=°/7°EI/\ 22E+H 320 390

EETZILFILREVURILRVER
30 GZDM (C10-14R UL DEAM) 1.8E+1| 4.9E+2 506.5 1.6E+3 1,611.3 2,117.8
31 | PUFEVRUVZEDIEEY 3.0E+2| 1.5E+3 6.8E+2 2,485.6 2.1E+4 20,596.6 23,082.2
32 |7ty 1.9E+1 18.9 18.9
33 |BfE 1.4E+3 1,350.0 1,350.0
34 |IPDI 5.3E+2 526.3 526.3
35 |[AYTFILTILTER 2.2E+1 22.0 2.3E+2 230.0 252.0
36 |[1VTLY
37 |ERXTz/—ILA 2.0E+0| 3.4E+1 36.0 4.1E+2 408.8 44438

22-{4V7aEYTUER[(2,6-PT
38 |AE-41-Tz=L)AFLNPTA

/=L
39 |7z FIHRR
40 |[Eoz+€E—F
41 [ZIhS=L
42 [2-(ZVICUFFY 2.5E+1 24.8 24.8
43 |M2/9300 3.8E+0 38 38
4 (AU OHLRUZFDEEY 1.0E+1 10.3 10.3
45 |TAVFFH—IL
46 |FHORyTIFIL
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% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE

= DL | DHEH A A T &t e g &t =&

47 |F4342

48 |EPN 5.7E+2 569.7 569.7

49 |RoFarm1Y 8.0E-1 08 2.4E+1 238 246

50 |EUR—k

51 [-IFAAFHUB 3.0E+1 300| 1.1E+0| 58E+3|  5776. 5,806.1

52 |735=HILT

53 |[TFLRLEY 5.26+5| 4.4E+0 517,0028 | 16E+1| 2.1E+5| 211,4005| 7284933

54 [RRFF7E—F

55 |TFLoA3Y

56 |[TFLUAFLR 1.5E+4] 14E+3 16,376.7 1.0E+0 1.0 16,377.7

57 )I;’LL”’O‘U:_’E/ TFLI=T | 5g+3 57765 | 7.8E+0| 7.6E+2 766.8 65433

58 )I;’F"’ TUIA—NEIAFNI=T | 50e1 3,230.7 1.3E+2 130.0 3,360.7

59 |[TFLUSTIY 1.8E+2 176.7 8.6E+2 861.8 10385

60 |TFLUSTS mEE 1.6E+1 16.0 16.0

61 (w7

62 [v>a€7 (vo€D) 2.0E-1 0.2 0.2

63 [CHO7rPTOIR (UYL

64 |ThTToTAVHR 1.0E-1 0.1 236+ 225 226

65 |TErooeryy 5.26+3| 2.2E+2 5,440.1 2.4E+5| 2405400 |  245980.1

66 [12-THRE¥ITaY

67 |23-THEL-1-TO//—L 11E+ 110 110

68 fj_l’ﬁ*:’j“’ W EIETREL | ey, 1140 1140

69 5_'_3)1/1’—"3#:/7}“5”’:71:”’1_ 36E+1 36.0 8.6E+2 855.0 891.0
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% =4 (5l&) REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
=) DHEE | DHEH| - 1 o7 &t = | & &t Ba
[Sigapriihya }=E

20 IVAYFUBIaRREFBRIERVUIV

A)FUBIbERERIEDEEY
7 |EIeE 8% 5.0E+0 5.0 2.1E+0| 4.1E+5| 413,933.1 413,938.1

E16/8574> (C10-13RVF DR
72 R

&)
3 [1-FAH9%/—)L 6.9E+1 69.0 69.0
74 |p-AHoFNT7z/—)L 2.0E-1 0.2 2.0E-1| 2.3E+4 23,010.5 23,010.7
75 |ARESHLRUVZFDILEY 3.3E+1 2.6E+1 59.3 59.3
76 |e-hTOS594% L 40E+1| 9.5E+2 992.7 992.7
77 AT HLLTFER
78 [24-F>L/—)L
79 [26-FL/—L
80 |¥ LY 8.1E+5| 5.4E+0 808,233.7 1.3E+1| 3.0E+5| 300,355.2 | 1,108,588.9
81 |¥/Uv 1.3E+1 13.0 13.0
82 |SBRUVZFDKAMEIELEY 3.3E+0| 4.1E+1 44.4 44.4
83 |TAY 1.0E+3| 2.0E+1 1,059.4 6.0E+2 601.0 1,660.4
84 |JVAFY— 4.9E+0| 1.5E+1 19.9 1.2E+3 1,220.1 1,240.0
85 |JILAILTILTER 1.0E-1 0.1 2.8E+1 28.0 28.1
86 |[ZLYJ—IL 3.0E+2| 6.2E+0 305.3 40E-1| 7.1E+3 7,050.4 7,355.7
87 |VOLRUIMMmIOLILEY 1.9E+2| 3.2E+3 3,351.6 2.3E+3| 1.1E+6| 1,053,555.8 | 1,056,907.4
88 |6ffivOLILE 1.2E+0| 1.3E+2 132.0 7.6E+0| 2.7E+4 26,710.8 26,842.8
89 |yopm7=1>
0 7P 6.0E-1 0.6 1.3E+2 133.8 134.4
91 [vF7FPr
92 |FLTTIUESK
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DHEH
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TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~D#%
FE

BEEY
]

BHE

At

BHE-
wEIE

AE
[=N-]

©
w

ASO—)L

1.8E+0

1.0E-1

3.8E+2

379.1

380.9

yoOTFLy (EEE=IL)

8.0E+3

3.1E+2

8,320.0

8,320.0

95

INToFL

96

o7x/arJ—)

97

1-/08-2-(ZAAAF)LRUEY

98

odn]nlidi

1.9E+2

190.0

8.2E+1

82.0

272.0

99

YOOFFEITIFIL

100

JLFSoa—iL

1.5E+0

1.5

101

7770-—-)L

102

1-/00-24-CZfORUEY

103

1-/00-1,1-27)LAaxT4>
(HCFC-142b)

7.0E+0

7.0

7.0

104

~an0<o7)LAa A4y (HCFC-22)

4.7E+3

4,709.5

4,709.5

105

2-9/00-1,1,12-Th37)LAOTA
> (HCFC-124)

106

~aAr)7)LAATAL (HCFC-
133)

107

£k 7)LAaA4 (CFC-13)

108

Xazav”y

109

o-/0OOkILTY

110

p-Z0BkLTY

111

2-oA[-4-—kar7 =)

112

2-yap=—tany Ly

113

T (CAT)

1.8E+1

17.7

17.7

114

AR )Ty

115

TV hSHER

1.8E+0

1.8
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) Bett Eke/5) BEEke/F) _
® B4 (R4) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
2 DB | DHEH AR 3 a&t e piidan a&t =
16 [ NESFFTYIR
17 (F7a+J—iL 2.6E+1 26.0 26.0
118 |2yRT4=)L
19 |Z7z>Tarv—iL
120 [o-ZOO7z/—JL
121 [p-#OA2z/—)L 2.7E+1 27.0 27.0
122 |2-op0070E4+ B
123 [3-yoa7aRy (&7 YIL) 3.3E+3 32710 | 23E+2 230.0 3,501.0
124 |30y 2.9E+2 290.0 290.0
125 [yOARVEY 8.2E+2| 6.4E+0 829.5 44E+5| 4434620 4442915
126 oAV ATLARIAY (CFC-

115)
127 [FaOmRILL 9.2E+4| 52E+2 92,787.0 4.4E+5|  440,800.0 533,587.0
128 [VAAAZY (GIEAFIL) 6.7E+3 6,720.0 6,720.0
129 [4-5OA-3-AF)LTz/—)L
130 [MCP (MCPA)
131 [3-/0A-2-AF)L-1-Faxky
132 (AR RUZDIEEY 1.6E+1| 5.1E+0 214 3.2E+3| 3.1E+4| 34,0706 34,092.0
133 |EFEg2-ThFS TFIL 2.6E+3 2,613.2 9.7E+1 97.2 2,710.4
134 |BFEEE =L 9.1E+3| 3.0E+2 9,377.7 | 8.0E+0| 3.8E+3 3,797.1 13,1748
135 |EFBR2-ARFIFIL
136 |FUFILTILTER
137 |7 F=F
138 |ooad Ayk

6/21

EE . I27IAN) —RE /- BERRERV AT LBEHRRR




FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

BEtH 2 (keg/ ) B2 (ke/F)

i =,

s —_ _ =
% Bma (5l4) REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
= DO | DHEH| - | &t = | & &5t i

FTAEIL e
139 |kFSAAR)Y
140 |Zz>FO/sk)Y
141 XY=L
142 [24->73/7=y—)L
143 [44-S73 /871 )LT—F)L
| T ALEYEBEERUVITY
144 |gee 2l ) 3.8E+2| 4.6E+2 8389 | 50E+1| 49E+3 49499 57888
145 [~ TFLT7INTE/—IL 3.1E+3 3,100.0 3,100.0
146 [EYSHRRAFIL
147 |[FARUALT 1.2E+2 117.7| 6.0E-1 0.6 118.3
148 [hozo2bO—)L 1.0E-1 0.1 0.1
149 |migLiRE 1.2E+1 12.4 12.4
150 [1.4-SHFH> 1.3E+2| 1.6E+2 2886 | 39E+1| 3.2E+3 3,189.0 34776
151 [1,3-SHxvs5>
152 |ALBy T
153 [FRI AR 2.0E+1 200 20.0
154 [LonAxo L7y 1.3E+3| 1.8E+2 1,4800 | 1.0E+2| 3.0E+1 1332 16132
155 [N~ 2O~NF LFA)THILAZR 1.6E+2 157.6 157.6
156 [Cooo7=y>
157 [1.2->onnT4ay 5.1E+4| 5.2E+1 50,808.3 1.26+4| 12,0120 62,820.3
— NP ——
158 L1) YIRRTFLY WBILE=UT | 5oeiol 16842 509.3 509.3
159 |cis-1,2-SoonTFLY 2.3E+2 233.4 2334
160 |33 ¥ YAR-A4-DTR/TTI=N 41E+2 406.2 406.2
AR
161 [CoonsuAOArsy (CFC-12) | 9.3E+3 9,316.0 9,316.0
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BHE-

HEH - 5 ~DF - &%
a)*;Fllill a)*;Fllill Fﬁ_migilz %ﬁ+ Eﬂ% H&H:Il én+

Jn B < =

JOEHER 2.0E-1 0.2 3.7E+1 317.0 37.2

—_
(=2
N

oynaTh37)LA0IAY (CFC-

163 114)

22-o400-11,1-F)7)LAOTA

164 1+ (HoFc-123)

165 |24->o0AkLTIY

166 [1,2->/00-4-—tAREY

167 |1,4->4H0OQ-2-—kaA

168 |[417OsF+>

169 [CoBoy 4.8E+1 48.0 1.1E+2 114.2 162.2

170 |FF5aF+YJ—IL

171 |ZFaEa+y—iL 1.2E+1 12.0 12.0

172 |FFHooniky

173 |Evonvyy

174 V) =20V 3.3E+0 3.3 3.3

175 |2,4-D (2,4-PA)

1,1->4y00-1-7,L4A0xT4y

176 (HCFC-141b)

6.5E+1 65.0 65.0

177 |oBA7)LARBARY (HCFC-21) 3.6E+0 3.6 3.6

178 [1,2->oon7o/sy 3.0E+0 3.0 3.0

179 |D-D 45E+1| 1.2E+1 57.4 2.8E+2 280.0 3374

180 [3,3-ooARI DDy

181 |y vy 1.8E+3 1,769.0 71.8E+4 78,400.0 80,169.0

182 |[ESYV ¥ 7z

183 |ESYL—k

184 [~ =)L (DBN) 2.0E-1 0.2 0.2
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HEH -
FTAE 3L

HHE
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~D#%
FE

BEEY
]

BHE
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BHE-
wEIE

AE
[=N-]

sonaRyao)Aoronsy
(HCFC-225)

5.0E+0

5.0

5.0

186

ooanray (BIEAFLY)

6.8E+5

1.2E+2

7.5E+0

683,448.6

8.3E+0

8.8E+5

879,752.3

1,563,200.9

187

CFFIV

188

NN-CSHanF LTI

8.6E+1

3.0E+3

3,046.0

3,046.0

189

NN-DL AT IL-2-RUYFTF
V=LA TV TIR

6.4E+2

635.0

635.0

190

ss s

oooARV ATy

191

AV7aF+s5>

192

IF47xRA (EDDP)

193

IFILFFARY (CRILEKREY)

194

=

195

TaFFHRR

196

AFEFA (DMTP)

2.0E-1

T1E+1

71.2

197

TSV (IFFAY)

198

DAI—bH

199

CIZILA LR+ 260

200

szrAakLTY

201

24-o—tA7Jz/—)L

202

TEZIRVEY

203

DIIZIVTEY

204

CITIZILI—TIL

2.8E+2

283.9

283.9

205

13-z W5 7=Dy

1.4E+2

135.0

135.0

206

AIRRILT 7Y

207

26-C-tert-TFJL-4-HLJ—)L

3.7E+1

371

6.1E+2

605.4

642.5
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HHE
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TKE
~D#%
FE

BEEY
]

BHE

At

BHE-
wEIE

AE
[=N-]

24-C-tert-TF LTz /—)L

4.5E+2

450.0

450.0

oJoE/O0r4y

210

22-070OF-2-VF/TELFEF

7.8E+2

780.0

3.3E+1

33.0

813.0

211

CTAETISIIILABIARY NAY
-2402)

212

TtIJz—k

213

NN-DAFIL TR TR

5.3E+2

530.0

6.2E+5

616,271.2

616,801.2

214

24-UAFIT =YY

215

26-SAFIT =Y

216

NN-DAFILT =Y

4.3E+1

43.0

43.0

2117

FALII L

218

DAFITIY

7.5E+0

1.5

1.5

219

CAFILCRIL TR

220

CAFIWCFAHILINIUEED KA
g

221

RUIZ5HAILT

222

Tz /FAHNLT

223

NN-UAFILRTFUILTEY

224

NN-UAFILRTFUILTIU=N-FF
R

8.0E+0

8.0

2.6E+0

6.6E+1

68.6

76.6

225

k) B)LAR> (DEP)

226

11I=-DAFILERSDY

2217

NRZa—k2onyk 833 —H)

228

33-UAFIETIZL-44-CA)L
=AY T r—b

229

FAITF7R—bAFIL

1.9E+2

190.0

190.0

230

N-(1,3-CAFIJILTFIL)-N-Tz=)L
-p-JI=LUTTIV

5.2E+3

5,242.0

5,242.0

10/21

ERE . T7IAN) AR/ BEREERVATLIEA

DA




FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) Bett Eke/5) BEEke/F) _
® B4 (R4) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
2 DB | DHEH AR 3 a&t e piidan a&t =
231 |33-CUAFIURITTY (o-h)DY)
232 |NN-DAF LRIV LT SR 1.4E+4 14,006.7 1.2E+6] 1,172,711.2 | 1,186,717.9
233 |7z bI—h (PAP)
234 |BR%
235 |RREDKBFME 1.6E+0| 1.4E+1 15.6 15.6
236 |7A4AFI=IL 2.6E+0 2.6 5.1E+1 51.0 53.6
237 |KBRUZDILEY 4.1E+0 4.1 4.1
238 [KFRIETILTZ=ZIL 3.4E+0 34 34
239 | B X{LEY 1.3E+3| 4.4E+0 1,304.4 2.5E+3 2,480.0 3,784.4
240 |RFLY 59E+4| 5.1E+1 59,403.1 1.2E+5| 116,245.8 175,648.9
oaq [T ANVEANF S TAVE-1-AFILT

ATIVFRID LG
242 [ELORUZDILEY 2.0E-1| 5.9E+1 58.8 3.5E+3 3,500.0 3,558.8
243 |FAFFLUHE 2.4E+3| 9.9E+1 6.5E+3 90226 | 10E-1| 50E+4|  49,656.4 58,679.1
244 |FJ Ayk
245 |FAIRFE 1.8E+0 1.8 1.8
246 |FATz/—
247 [E358KRR
248 ATV /Y
249 |70 LEYRR
250 | M FYFHY
251 |Zz=kAFF+> (MEP) 1.4E+2 143.7 143.7
252 |9z2F A (MPP) 2.9E+1 29.4 29.4
253 [FRD7z/RR
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) Bett Eke/5) BEEke/F) =
z 2% (BIR) 5 +BAD| ue | Tk s
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
2 DB | DHEH AR 3 a&t e piidan a&t =
254 |4 7ORUARR (1BP)
255 [FHITRESTIIZILI—TIL
256 | THUBE 1.4E+1| 3.7E+1 50.5 50.5
257 |TYILTILa—I)L 6.0E-1| 2.4E+1 24.3 24.3
258 |NEHAFLUTRSIIY 2.8E+1| 1.0E+0 29.0 9.4E+2 941.8 970.8
259 |CRILTA45 L 3.0E-1 0.3 3.5E+2 350.0 350.3
260 |#OB%A=)L (TPN) 8.0E+1 80.0 80.0
261 [ZHS4/F
262 [FrSyO0TFLY 45E+4( 6.1E+1 45,431.1 35E+4| 351243 80,555.4
063 |THI7RRYTAATAY (CFC-

112)
264 (2,3,5,6-Th3YA0-p-RUY X/
265 |TRSEROAFILEEKDRIVER 9.8E+1 98.1 3.3E+3 3,330.0 3,428.1
266 | 7L
267 |FATHILT
268 |F IS L (FIL) 3.6E+1 36.0 2.1E+2 209.2 2452
269 |1V 40—l
270 |FLI5IVES 2.0E-1 0.2 9.0E+3 8,992.9 8,993.1
271 |TLIRILEED AFIL
272 |SRKBMHEIEERIEERRC) 2.0E-1| 1.6E+3 3.0E-1 15946 | 20E-1| 1.1E+4]  10,820.2 12,414.8
273 1-FFH/—L 2.4E+1 24.0 8.9E+0 8.9 32.9
274 |tert-FTHUFA—IL
275 |RTYIVEREE TR L 8.5E+3 85000 [ 21E+2| 3.4E+2 546.8 9,046.8
276 [TRSITFLURUAZY 1.6E+1 16.3 3.2E+2 323.0 339.3
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

B B 2 (ke/ F) BEE (ke/F) _
® B4 (R4) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
H D | DB e | BE | e | M| & Bt
277 |MJTFLTSY 5.0E+3 5,049.1 15E+4[ 14,7774 19,826.5
278 [ ZFLUTRIEY 1.5E+0 1.5 5.6E+2 555.2 556.7
279 [1,1,1-k)yAOTAY 1.7E+3 1,664.9 1664.9
280 (1.1,2-F)y0ORATARY 3.7E+1 37.1 37.1
281 [FJYOOIFLY 8.1E+4| 15E+2 80,731.3 5.2E+4[ 517610 [ 1324923
282 | OOEFRL
283 [2,46-~)OO-135-MJ TSy 2.6E+2 260.0 260.0
o84 |FUZERRIT LA RIS (CFC-

113)
285 |¥OOESY Y
286 |~JoOEL
287 [2,46-tyOOTT/—)L
288 |k)yOn7)LAAARY (CFC-11) 1.1E+2 110.0 110.0
289 (1,23-tyynOTossy
290 |k)yoARYEY
291 |4V TRIVEENI TS DL
292 [FJTFILTEY
293 [FJTLSYY 1.0E+1 10.0 3.2E+2 320.0 330.0
294 |2,46-F)TOETT/—)L
295 [355-FAFL-1-~FH/—)L
296 [1.24-F)AFILARUEY 6.9E+4| 1.4E+0 68,982.5 3.3E+4 33,397.5 102,380.0
297 [135-FUAFILRUEY 1.3E+4 13,194.8 10E+4| 10,0306 23,225.4
298 [FJLVDAVS T HR—b 8.7E+1 87.0 T.1E+2 713.8 800.8
299 [FLATY
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) Bett Eke/5) BEEke/F) _
® S4 (314) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
H D | DB e | BE | e | M| & Bt
300 |kLTY 1.6E+6| 2.0E+2 1,603,491.3 | 9.8E+1| 3.4E+6| 3,371,708.2 [ 4,975,199.5
301 |FILTIUPTEY
302 [F74L> 6.5E+3 6,497.2 1.8E+3 1,761.6 8,258.8
303 [1,5-F7RL Y PAYI T R—b
304 %8 2.0E-1 1.3E+1 13.2 1.0E+4|  10,308.1 10,321.3
305 |fRiEEW 8.4E+1| 8.8E+1 6.2E+0 178.6 1.0E+0| 3.2E+5| 323278.0 323,456.6
306 |ZF7UUILEEANFYAFLY 6.6E+3 6,600.0 6,600.0
307 |ZIRIEERIED L= L
308 |=v~ L 4.9E+1 48.9 2.1E+4| 21,3925 21,441.4
309 |=v7ILiE &Y 8.5E+1| 3.0E+3 31009 | 53E+2| 2.1E+5| 208,829.3 211,930.2
310 |=FUD=FEFER
311 Jo-=bA7=Y—IL
312 lo-=bEF7 =Y 24E+4| 24,0000 24,000.0
313 |=rES LYY
314 [p-roo=fra~sEy
315 Jo-=bEMLIY
316 [=rAREY
317 |=hAAEY
318 | ZEifbik®
319 [1-/F/—L
320 |/= Loz /—L 3.0E+0 30| 3.0E-1| 1.2E+2 124.3 127.3
321 |INFSHLEEY 5.3E+0| 8.4E+1 89.6 2.7E+4| 26,9480 27,037.6
322 |CIF 4 R/8—X T JL— 79:1
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) B =ke/ ) BEa=ke/ F) _
& ; ” HH=-
= 4 (3148) xE~l ko~ TENP| gme | TN pay| pye | BDE
= o |ogm| FE | Tag | OB Canl| st as
= [Sigapriihya e
323 |V ARV
324 ||3 ER[QI-TRELTOE LT F 1 5E+1 15.0 15.0

UIRVEY
325 | A ¥ 4R 7.2E+1 72.0 72.0
326 |OJIUFT
327 |12-ER(@-/O07z=)L)ERSS Y
328 |5 L 1.3E+0 1.3 2.6E+2 260.0 261.3
329 |RYB—/\A—F 1.0E-1 0.1 5.9E+1 59.0 59.1

EXA-AFIIL-1-TTZJLITFIL)=R
330 |t ot 5.6E+2 558.0 558.0
331 |hXHHRX
332 (MBERVZOERIEED 2.0E-1| 2.7E+2 7.2E+1 343.8 1.0E-1| 1.1E+3 1,063.2 1,407.0
333 |EFSTY 1.9E+2| 4.8E+2 678.6 8.5E+0| 3.8E+4 38,152.5 38,831.1
334 |4-EFOXLREBEFBAFIL 3.2E+1 32.0 7.8E+1| 2.7E+2 351.1 383.1
335 IN-(4-ERAFL Tz )L)7ERFER
336 |EFOX/> 7.8E+2 780.0 1.8E+1| 1.1E+4 11,491.0 12,271.0
337 |4-E=)L-1->oanFx+y
338 |2-EZLEYDY
339 IN-E=JL-2-FayKY
340 |Eoz=)L 1.3E+0 1.3 1.5E+0 15 2.8
341 |ERSDY 1.4E+4 13,828.0 13,828.0
342 |[EYDY 2.4E+3 2,400.0 2,400.0
343 |AFa—IL 2.0E+1 20.0 6.3E+0| 2.3E+2 232.8 252.8
344 |7 LA XISy
345 | 7= LERSSY
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

% Bett Eke/5) BEEke/F) .

= BH4 (B14) xan kA BENC g | TR pmy| pys | BDE

2 DB | DHEH AR 3 a&t e piidan a&t =

346 |2-7x=)LJx/—)L

347 |N-Zz=)LLA3R 59E+4|  59,000.0 59,000.0

348 |7z=LUPTEY 2.0E+2 197.0 197.0

349 |7x/—)L 1.5E+4| 2.6E+1 15457.6 | 16E+2[ 19E+4]  19,186.6 34,644.2

350 |RJLARY Y 5.0E-1 05 9.2E+1 92.2 92.7

351 [1,3-T4>xy 2.8E+3| 1.0E+0 2,811.0 2,811.0

352 |DRILEESTYIL 3.3E+2 330.0 330.0

353 [JAILEECIFIL 2.0E+3 2,000.0 2,000.0

354 |JHILEES-n-TFIL 4.4E+1 441 | 20E+0| 5.2E+2 523.3 567.4

355 |7RILEBEE RQ-TFI)LAX L) 9.3E+2 927.3 43E+4| 433644 442917

356 | 7RI EEN-TFIL=RUT L 2.9E+1 28.8 28.8

357 (7@

358 |FIIT/TFK

359 g___z*”’_z'3_l7ﬁ$:/7c':"f"’l_ 1.2E+1 12.1 2.1E+2 206.2 218.3

360 |[R/3)L 5.0E-1 0.5 05

361 |0y TITFIL

362 |7 Iz FoOY

363 |[AFHTTIY

364 [JzoERFTA—k

365 |FFILERRFLT=Y—IL

366 |tert-TFIL=EFORILFFIKR 2.1E+0 2.1 2.1

367 [o-sec-TFILTz/—)L

368 |4-tert-TF)LTx/—)L 4.8E+2 479.9 479.9
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

B4 (Al4)

P 2 (ke/ )

BE= (ke/F)

Rz

DHEH

Kig~
DHEH

TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~ BEY
(0} o

BE

BHE

At

BHE-
wEIE

AE
[=N-]

ZasNL¥yhk (BPPS)

EVERY

371

FIIIVESK

372

N-(tert-T FIL)-2-RUJF7YV—)L
ATV FIR

2.0E+1

19.6

19.6

373

2-tert-J FIL-5-AF )L T/ —)L

374

S2LKRRVZEDKELE

1.2E+3

1.7E+5

175,153.6

1.6E+3| 5.6E+4

57,698.1

232,851.7

375

2-TTF—I)

376

JAayno—)L

2.0E-1| 4.0E+1

40.2

40.2

377

—

T2

378

JoExJ

379

2-FRE -1-A—)L

380

JOE/0ADTLFOALL (NAY
-1211)

381

JOES/ARAZY

382

JOER)TILAOARY (NA-
1301)

1.5E+3

1,510.0

1,510.0

383

JavwoiL

2.0E-1

0.2

0.2

384

1-JoxJo/sy

8.3E+4

83,050.0

1.6E+4

16,020.0

99,070.0

385

2-JoEJOos8y

386

TREAY

2.5E+3

2,490.0

2,490.0

387

[ | R VY

388

IVRRILIT7ZY (RUYJIEY)

389

AFH TN AFILTOEZ S L
7=Vl

3.4E+1

3.0E+0

37.0

2.7E+1

27.0

64.0

390

AXHAFLUOTIY

3.2E+1

32.1

321

391

ANXPAFL=D4YO T R—b

1.5E+0

8.7E+1

87.0

88.5
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

B BEtH 2 (keg/ ) B2 (ke/F) _
& HBAD Tk A,
AN = = =
% Bma (5l4) REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
= D OB T L | Bt = | #h | A =&t
FTAEIL e
392 [n-~FH> 4.3E+5| 4.5E+2 434,345 1 21E+5|  214,749.2 649,094.3
393 [RaFTR—)L 2.2E+2 2200 220.0
394 (RYYH LRUVZFDILEY
395 [R)LAFY ZIHREEDIKBMHEE 2.2E+2 224.4 2244
396 NIV INABFIZ-1-R LRV
) (PFOS)
397 |IRvDYDr=kyHayr
398 |RyUL=Hoyr 2.8E+1 28.0 1.1E+3 1,130.0 1,158.0
399 [NV XTFILTER
400 [Ro€> 2.3E+4| 6.7E+1 22,9052 9.7E+3 9,657.0 32,562.2
AN, s 4
a01 |12ANTERUDILARL B2 7.0E-1| 3.6E+2 363.7 363.7
K
402 | A7z Htuk
403 |RyvyoTIY 9.9E+1 99.0 99.0
404 (R BB TT/—)L (PCP)
405 ([ZS5HRILEW 1.7E+4| 1.1E+5 129,790.2 |  1.1E+4| 2.4E+5| 2464945 376,284.7
406 |ARUtE{LE 7= )LEE (PCB) 4.4E+0 44 44
RUGFFLIFLU)=F7ILFILIT—
407 | o 15 R U DB A 2.2E+1| 1.4E+3 14525 | 30E+2| 4.2E+3 4468.4 5,920.9
R $ )= =
s08 |NIAFSITFLUAIFILIT 1.4E+1 14.0 146+43] 14000 14140
LI—TIL
RYFFSIFLU=RFTULI—T _
400 | e T 2T I L 1.0E-1 01| 1.4E+1| 13643 1,354.6 1,354.7
R D =)= =
410 -'I')(ZHF/I:Fb’)/ NIx=IV1 6 oE-1| 1.0E-1 07| 7se+1| 71E43] 71814 71818
—FL
411 [RILLTILTER 156+3| 1.1E+0 15011 | 1.1E+1| 4.0E+3 4014.1 5,515.2
412 |RUHVRUVZDIEESY 48E+2| 1.6E+4 16,259.9 | 4.2E+1| 3.7E+6| 3,70455035 | 3,720,763.4
413 |mATHILEE 3.0E+2 300.1 6.4E+2 639.4 939.5
414 |mAKTL A B 7.7E+2| 1.0E+0 771.1 2.6E+3 2,636.8 3,407.9
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FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) Bett Eke/5) BEEke/F) _
® B4 (R4) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
2 DB | DHEH AR 3 a&t e piidan a&t =
415 | A291) LB 4.4E+3( 6.9E+2 51134 | 20E+1| 2.1E+3 2,100.1 7,213.5
416 | A9 LEE2-TF)LAZUIL 6.5E+0 6.5 3.4E+1 34.4 40.9
417 | A5 LEE2 3-TRFLTOE L 3.3E+2| 1.1E+3 1,430.1 4.0E+1 40.2 1,470.3
418 | AP JLEE2~(DAF LT S/)TFIL| 40E+0 40 1.2E+0 12 5.2
419 | A29) LEEn-TFIL 4.6E+2 456.9 7.3E+2 727.6 1,184.5
420 | ARYYILEEATFIL 2.5E+4| 4.6E+0 24,687.9 4.1E+3 4,119.9 28,807.8
421 |4-AF)TFoF XL -2-FY
422 |7z LV
423 | AFIL TR 4.8E+1 48.0 48.0
224 | AFI=AVFF LT R—F 8.2E+0 8.2 1.4E+2 140.0 148.2
425 (47O A/)LT (MIPC)
426 |hILRISY
427 |HJLs8YJL (NAC) 2.0E+2 200.0 200.0
428 (2z/7HILT (BPMC) 1.3E+2 134.6 134.6
429 |/\ARJLZAVAFIL
430 (Ao FFHSHLT
431 |7V ¥ RhOEY
432 (725X
433 |h—/NL
434 |AF YL
435 |EYS /NI AF )L 1.0E-1 0.1 0.1
436 |- AFILRAFLY 1.8E+3| 2.0E-1 1,804.5 1.7E+2 170.0 1,974.5
437 |3-AFIILFATANRF—IL

19/21

EE . I27IAN) —RE /- BERRERV AT LBEHRRR




FHEXFNMOOZMEDTHH -BEBEINDOHHE -BHE] (FHIEE)

FER

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

Jn B < =

B4 (Al4)

P 2 (ke/ )

BE= (ke/F)

Rz

DHEH

Kig~
DHEH

TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~ BEY
(0} o

BE

BHE

At

BHE-
wEIE

At

43

[oc]

AFILFIELY

2.8E+3

2,768.2

7.3E+3

7,273.5

10,041.7

439

AFIEYDY

440

1=AFJL-1-Tz= LT F)L=£RAR
WAFUR

441

< /+7J (DNBP)

442

7az=)L

3.0E-1

0.3

0.3

443

AJEIL

444

NJPI=E D AN-T=

445

ILIFRD LAFIL

446

B4-AFLIOTZ)Y

4.0E+1

39.7

39.7

447

AFLUVER@G1-oaNEILY)=
SAYLT R~

T1E+1

71.0

448

AFLUER@A-TT=LU)=04Y
T Fr—hk

9.7E+1

97.0

6.8E+3

6,848.5

6,945.5

449

TIVATAT7 L

450

EUVIFALT

451

2-ARF-5-AFLT =Y

452

2-AIVHTRUIFF7I—IL

453

EVITURUVEDILEY

1.0E+1

3.1E+3

3,070.3

1.0E-1| 3.2E+4

32,463.7

35,534.0

454

2-(BIKRIVICFAIRIFFTYI —
L

455

EILERY Y

1.4E+1

14.0

8.2E+0| 1.4E+1

222

36.2

456

YL T ILE= L

457

4a)LRX (DDVP)

458

YABER) RQ-ZFILAFIIL)

459

YAEERN) R(2-/O00TF)L)

460

YABERIRIIL

1.0E+2

101.2

101.2
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(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

i B =ke/ ) BEa=ke/ F)
kol &4 (R%) TiE~AD TKE =
B K k- ~ox |EEN BUE
= [Sigapriihya =
461 |YAERI =)L 6.2E+0
462 |YABER)-n-TFIL
1)243
2)
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